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6. A sample of the strong acid HCl(aq) is titrated with a sample of NH 1(ag), a weak base.

Write the formula, complete ionic and net ionic equations for the titration reaction.

Solution:

For Example:
HCl(aq) + NH,(aq) — NH,Cl(aq) < 1 mark
H*(aq) + C1™(ag) + NHj(aq) — NH,"(aq) + CI(ag) 1 mark
H*(ag) + NH;(aq) - NH,"(ag) « 1 mark

4. Describe two lab tests and how their outcomes could be used to di stinguish
between a strong acid and a weak acid of equal molar concentrations.
Selution:

For Example:

(Any two of the following for 4 marks.)

Test:  Electrical conductivity

Outcome:  Strong acid has a greater conductivity than the
weak acid.

Test: Reaction with Mg

Outcome:  Strong acid has a greater reaction rate than the
weak acid.

Test: Compare pH using a ph metre

Outcome:  Strong acid has a lower pH than the weak acid.

(3 marks)

(4 marks)



